

$$x_{(n+1)} = \left(\frac{1}{r}\right)^{n-1} - 1$$

$$f(n) = \begin{cases} \sqrt{1-n} & ; n \geq 0 \\ \sqrt{-n} & ; n \leq 0 \end{cases} \Rightarrow f(-n) = \begin{cases} \sqrt{1-n} & ; -n \geq 0 \\ \sqrt{-n} & ; -n \leq 0 \end{cases}$$

$$\Rightarrow f(-n) = \begin{cases} \sqrt{1-n} & ; n \leq 0 \\ \sqrt{-n} & ; n \geq 1 \end{cases} \Rightarrow D_{f(-n)} = \mathbb{R} \setminus (-\infty, 0) \cup [1, \infty)$$

$$+ \phi - (n \leq 0) \cap (n \geq 1) = \phi$$

$\sqrt{\frac{n-1}{f(n)}} \Rightarrow \frac{n-1}{f(n)} \gg 0$
 $n-1 = 0 \Rightarrow n = 1$
 $f(n) = 0 \Rightarrow n = 1, 2, \dots$
 $Df = [-\partial \phi \psi]$
 $\Rightarrow D_y = [-\partial \phi \psi]$
 $D_y = [-\partial \phi \psi]$

$$\begin{aligned} \text{2) } 12^x - 12^y - 12^z - 12^w &= 9 \cdot 2^x - 4 \cdot 2^y + 1 + \frac{-12^x - 12^y - 12^z - 12^w}{(2^x - 1)^y - (2^y - 1)^x} \Rightarrow \frac{(2^x + 2^y + 1)(2^x - 2^y - 12^z - 12^w)}{\Delta < 0 \rightarrow \text{ریشه ها دارد} \quad \Delta > 0 \rightarrow \text{ریشه ندارد}} \\ \Rightarrow \text{D.L.} &= \mathbb{R} - \{\alpha, \beta\} \Rightarrow \boxed{a = -1, b = -12} \\ \sqrt{-(-1-12)} &= \boxed{5} \rightarrow \text{جواب} \end{aligned}$$

$$y = \sqrt{z^2 - \frac{r^2}{z^2} + z - \frac{r}{z}} \Rightarrow y = \sqrt{\left(z - \frac{r}{z}\right) \left(z^2 + r + \frac{1}{z}\right) + \left(z - \frac{r}{z}\right)}$$

$$y = \sqrt{\left(z - \frac{r}{z}\right) \left(\frac{z^2 + r + \frac{1}{z} + 1}{\Delta(\infty) \text{ مثبت و } \Delta(\infty) > 0}\right)}$$

$$+ \phi \begin{matrix} -r & 0 & r \\ \phi & \phi & \phi \end{matrix} \phi +$$

$$\Rightarrow D_y = 1R - (-262)$$

$$f(n^w) = n^w - 1$$

$$f(1) \Rightarrow n^w + n = 2 \Rightarrow \boxed{n=1} \Rightarrow n^w - 1 = 1$$

$$1 + n = 1 \Rightarrow n^w + n = 2 \Rightarrow \boxed{1+1=2} \Rightarrow \boxed{1+V = f(1) + f(1) = 2}$$

$$1 + n = 2 \Rightarrow n^w + n = 1 + 2 = 3$$

$$f(10) \Rightarrow n^w + n = 10 \Rightarrow \boxed{n=2} \Rightarrow n^w - 1 = V$$

$\wedge$

$$f(n) = (n - V)^w + \wedge$$

$$g(n) = (n + V)^w - V$$

$$\Rightarrow \frac{g(n)}{f(n)} = \frac{(n + V)^w - V}{(n - V) + \wedge} = \frac{g(\sqrt{V} - V)}{f(\sqrt{V} + V)} = \frac{(\sqrt{V})^w - V}{(\sqrt{V})^w + \wedge}$$

$$\boxed{= -V}$$

$$f(n) = \sqrt{n + f\sqrt{n - f}} + f - f = \left| \sqrt{n - f} + V \right|$$

$$g(n) = \sqrt{n - f\sqrt{n - f}} + f - f = \left| \sqrt{n - f} - V \right|$$

$$\Rightarrow f(n) + g(n) = \begin{cases} 2\sqrt{n - f} & : n \geq \wedge \Rightarrow a=0, b=V, c=-f \\ f & : \sqrt{n} \leq \wedge \Rightarrow \frac{a+b}{c} = -\frac{1}{V} \end{cases}$$

$$\hookrightarrow a=f, b=0, c=0 \Rightarrow \frac{a+b}{c}$$

$$\frac{g}{f}(n)$$

$$D \otimes g = \{1, V, 0, V\}$$

$$f \neq 0 \Rightarrow n + \frac{V}{f} \left(\frac{D}{f} \otimes R - \left\{ \frac{1}{f} \otimes V \right\} \right) \quad D \otimes n \cdot D \otimes f = \{0, V\}$$

$$n^w - f \cdot n + \frac{V}{f} = 0$$

$$\Rightarrow n = \frac{f \pm V}{f} = \frac{V}{1}$$

$$\frac{g}{f} = \left\{ (0, V) \otimes \left(V - \frac{1}{f} \right) \right\}$$

$$f(n) = \left\{ (0, V) \otimes (1, 0, -1) \otimes (V, V) \otimes (-V, 0, V) \right\}$$

$$f(n^2) = \left\{ (1, V) \otimes (-1, V) \otimes (\sqrt{V}, -1) \otimes (-\sqrt{V}, -1) \otimes (V, V) \otimes (-V, V) \right\}$$

$$V \otimes^V(n) + 1 = \left\{ (-V, 1, 9) \otimes (1, V) \otimes (V, 9) \otimes (-1, 1) \right\}$$

$$\frac{V}{f} = \left\{ (1, -f) \otimes (V, -1) \right\}$$